

Level 1 60 Collins Street Melbourne 3000 Australia Telephone 613 9660 2600 Facsimile 613 9660 2699

Facsimile

Facsi	mile		Facsimile 613 9660 2699
To:	Company Announcement	From	Phil Holland Cooper Investors
Company:	ASX	Date:	22 May 2020
Facsimile:	1300 135 638	Pages:	5 (including this one)
Re:	Form 603 – Notice of init	al substantial ho	older
Dear Sir/M	İ		
Investors F	completed Form 603; Notice Pty Limited, in accordance v units in Orica Limited.	of initial substa vith Section 671I	ntial holder, completed by Cooper B of the Corporations Act 2001, in
Yours sinc	erely,		
Phil Hollar Chief Fina	nd Incial Officer		

Form 603

Corporations Act 2001 Section 671B

Notice of initial substantial holder

		h	Notice of initial s	ubstantial holder	
To Company	Name/Scheme	Orica Limited			
ACN/ARSN		ACN 004 145 86	8		· · · · · · · · · · · · · · · · · · ·
1. Details of s	ubstantial holder (1)				
Name		Cooper Investo	rs Pty Limited		AHERIT 1997 1111117 177 111117 177 11117 1117 1117 1117 1117 1117 1117 1117 1117 1117 1117 1117 1117 1117 1117
ACN/ARSN (If	applicable)	100 409 890		,	A LOCAL CONTRACTOR OF THE PARTY
The holder be	came a substantial holder	on	20 / 05 / 2020		
2. Details of v	roting power				
The total num interest (3) in	ber of votes attached to all on the date the substantial	the voting shares i holder became a s	n the company or voting inte substantial holder are as folic	rests in the scheme that the substantial ws:	holder or an associate (2) had a rele
	Class of securities (4)	N	umber of securities	Person's votes (5)	Voting power (6)
	Ordinary	2	0.346.783	20.346.783	5.016%

3. Details of relevant interests

Ördinary

The nature of the relevant interest the substantial holder or an associate had in the following voting securities on the date the substantial holder became a substantial holder are as follows:

Holder of relevant interest	Nature of relevant interest (7)	Class and number of securities	
See Annexure B			

20,346,783

4. Details of present registered holders

The persons registered as holders of the securities referred to in paragraph 3 above are as follows:

20,346,783

Holder of relevant interest	. 4	istered holder of unities	Person entitled to be registered as holder (8)	Class and number of securities
See Annexure B				
			 :	

5. Consideration

The consideration paid for each relevant interest referred to in paragraph 3 above, and acquired in the four months prior to the day that the substantial holder became a substantial holder is as follows:

Holder of relevant interest	Date of adq	uisition	Consideration (9)	Class and number of securities	
A A A A A A A A A A A A A A A A A A A			Cash	Non-Cash	
Cooper Investors Pty Ltd	Various dat	tes between to 20/05/2020	See Annexure A		
				i	

***************************************	40004044400000000000000000000000000000				603 page 2/2 1	5 July 2001
6. Associat	es			•		
The reasons	the persons named in	paragraph 3 above are asso	clates of the substantial ho	older are as follows:		
	Name and ACN/	ARSN (if applicable)		Nature of association		
	N/A		A THE STATE OF THE		· · · · · · · · · · · · · · · · · · ·	
				COMPANIES TO THE STREET TO THE		
7. Address	es				:	
The addres	ses of persons named i	n this form are as follows:				
	Name			Address	AND	
	Cooper Investor	s Pty Limited		Level 1, 60 Collins Street, Melbourne \	/IC 3000	
		ANNO CONTRACTOR DE LA C	WILE THE RESIDENCE OF THE PROPERTY OF THE PROP			
			,			
/ Signatu	re					
	print name	Phil Holland		Gapacity: Chie	f Financial Officer	
	sign here	The state of the s		date 22/05	/2020	tesmannementure:
		Night and	DIRECTION	ONS		
(1)	an equity trust), the n	ames could be included in the form as a specifically n	an annexure to the form.	iterests (eg a corporation and its related If the relevant interests of a group of p rship of each group, with the names and	ersons are essentially similar, th	ey may be
(2)	See the definition of "a	ssociate" in section 9 of the	Corporations Act 2001.			
(3)	See the definition of "r	elevant interest" in sections	 608 and 671B(7) of the Co	rporations Act 2001.		
(4)	The voting shares of a	company constitute one cla	ss unless divided into sepa	arate classes.		
(5)	The total number of vo	otes attached to all the voting	g shares in the company or	r voting interests in the scheme (if any) the	at the person or an associate has	s a relevant
(6)		rided by the total votes in the	body corporate or scheme	e multiplied by 100.		
	Include details of:	•				
(7)	setting o	ut the terms of any releva-	ht agreement, and a state	levant interest was acquired. If subsections ement by the person giving full and a statement certifying this contract, scheme	ccurate details of any contract,	/ document scheme or
	(b) any quali securities	fication of the power of a p to which the relevant intere	person to exercise, control st relates (indicating clearly	the exercise of, or influence the exerc the particular securities to which the qua	ise of, the voting powers or disp allification applies).	osal of the
	See the definition of "i	elevant agreement" in section	on 9 of the Corporations Ac	zi 2001.		
(8)				if the relevant interest arises because of		
(9)	become entitled to re Details must be include	ceive in relation to that acq	uisition. Details must be in ehalf of the substantial hol	d other, that any person from whom a notuded even if the benefit is conditional ider or its associate in relation to the acq	I on the happening or not of a c	ontingency.
					· ·	

ORI 20/	05/2020 ANNEXURE A						
	Trade Date	Ticker	Security	Quantity	Price	Amount	Curr
	9/01/2020	ORI	Orica Limited	34,427	22.47	773,744.87	AUD
	10/01/2020	ORI	Orica Limited	-11,932	22.71	270,916.10	AUD
	15/01/2020	ORI	Orica Limited	-124,478	22.76	2,833,119.28	AUD
	22/01/2020	ORI	Orica Limited	-17,041	23.1129	393,780.28	AUD
	17/02/2020	ORI	Orica Limited	-128,280	22.43	2,877,320.40	AUD
	20/02/2020	ORIXX	Orica Limited placement	2,136,804	21.19	45,278,876.76	AUD
	10/03/2020	ORI	Orica Limited	12,079	18.31	221,215.14	AUD
	12/03/2020	ORI	Orica Limited	12,164	16.8097	204,518.17	AUD
	18/03/2020	ORI	Orica Limited	-299,644	14.5	4,344,838.00	AUD
	26/03/2020	ORI	Orica Limited	-55,059	16.0277	882,274.99	AUD
	1/04/2020	ORI	Orica Limited	-3,878	16.91	65,562.55	AUD
	9/04/2020	ORI	Orica Limited	78,608	17.2244	1,354,273.52	AUD
	14/05/2020	ORI	Orica Limited	95,081	16.0634	1,529,844.24	AUD
	14/05/2020	ORI	Orica Limited	37,356	16.0783	601,413.83	AUD
	15/05/2020	ORI	Orica Limited	226,326	16,1918	3,669,462.67	AUD
	18/05/2020	ORI	Orica Limited	32,811	16. 4 563	540,838.58	AUD
	19/05/2020	ORI	Orica Limited	123,356	16.7392	2,067,606.41	AUD
	19/05/2020	ORI	Orica Limited	39,337	16.78	661,164.00	AUD
	19/05/2020	ORI	Orica Limited	55,714	16.78	934,880.92	AUD
	19/05/2020	ORI	Orica Limited	-55,714	16.78	934,880.92	AUD
	20/05/2020	ORI	Orica Limited	18,853	16.4771	311,155.29	AUD
	20/05/2020	ORI	Orica Limited	98 <u>,</u> 280	16.7388	1,647,260.80	AUD

2,305,170

		4,326,446.00	4,373,170.00	8,621,111,00	710,109.00	164,600.00	2,151,347.00	20,346,783.00	405,635,300	5.016%	
	Nature of Relevant Interest	Investment Manager	Investment Manager	Investment Manager	Investment Manager	Investment Manager	Investment Manager				
	Persons entitled to be registered as holder	National Nominees Ltd	JP Morgan Nominees Australia Pty Ltd	State Street Australia Limited	RBC Global Services Australia Limited	Citi Group	BNP Paribas		Total Shares Outstanding	Percentage holding	
ORI 20/05/2020 ANNEXURE B	Holder of Relevant Interest Registered Holder of Securities	Cooper Investors Pty Ltd National Nominees Ltd	Cooper Investors Pty Ltd JP Morgan Nominees Australia Pty Ltd	Cooper Investors Pty Ltd State Street Australia Limited	Cooper Investors Pty Ltd RBC Global Services Australia Limited	Cooper Investors Pty Ltd Citi Group	Cooper Investors Pty Ltd BNP Paribas	Total holdings			